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Semester B.Com. Examination, February/March 2024 
(NEP) (Freshers) 

COMMERCE 

Instruction: Answes should be written completely either in English 

1. a) What is doubling period ? 

DSC 13: Financial Management 

Answer any six sub-questions. Each sub-question carries two marks. 

or in Kannada. 

c) What is accept and reject criteria in N.P.V. ? 
d) Mention four factors influencing working capital. 

b) If sales are 8,00,000; Contribution 6,00,000. Calculate variable cost. 

e) Mention the techniques to calculate time value of money. 
f) What is wealth maximisation ? 

g) What is meant by financial mix ? 

SECTION �A 

Answer any three questions. Each question carries 4 marks. 

Sales 

h) Investment 20,000; Salvage 15%; Additional working capital-2,000. 
Calculate average investment. 

2. Explain the different methods of investment evaluation ? 

3. Explain scope of financial management. 

Variable cost 

Fixed cost 

5. Calculate three types of leverages: 

Tax rate 

15% debentures 

4. Mr. Ravindra deposits 10,000 at the beginning of each year for 4 years at 
12.5% p.a. interest. What is the future value after 4 years ? 

SECTION �B 

74,00,000 
25% 

{ 75,000 

NP � 327 

50% 

Max. Marks: 60 

50,000 

(6x2=12) 

6. What are the advantages of adequate working capital ? 

(3x4=12) 

P.T.O. 
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